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cf=j= 2073÷074 df nufOg] s/ z"Ns 

/ dxz"nsf] b/ 

;x/L If]q 
ahf/ pGd"v 

If]q 

u|fld)f 

If]q 

1= lgj]bg l;kmfl/; tkm{ M       

s= ;fwf/)f l;kmfl/; 100 75 50 

v= ^]lnkmf]g l;kmfl/; kmf/fd ;lxt 200 200 200 

u= ljB"t l;kmfl/; kmf/fd ;lxt 200 150 100 

#= vfg]kfgL l;kmfl/; kmf/fd ;lxt 200 150 100 

ª= l^s^ jfkt 10 10 10 

r= gfu/Lstf÷k|ltnLkL l;kmfl/; kmf/fd ;d]t 100 100 100 

%= ;h{ldg ;lxt l;kmfl/; 250 200 200 

h= k]G;g l;kmfl/; :jb];L 150 100 75 

em= k]G;g l;kmfl/; ef/lto 500 500 500 

~f= k]G;g l;kmfl/; t]>f] d"n"s 500 500 500 

^= k]G;g gfd;f/L :jb];L 150 150 150 

&= k]G;g gfd;f/L ef/lto 500 500 500 

*= k]G;g gfd;f/L t]>f] d"n"s 700 700 700 

(= kmf]^f] k|dfl)ft -k|lt kmf/fd _ 200 200 200 

2= kmf/fd ljlqm tkm{ M       

s= gS;f kf; kmf/fd    

1= klSs #/ 500 400 300 

2= slRr #/ 100 75 50 

v= Plss[t ;DklQ s/ kmf/fd 100 100 100 

u= cGo kmf/fd 500 250 100 

3= as; kq l;kmfl/; -xfn}sf] _       

s= tLg k":tf leq 750 500 300 

v= tLg k":tf jflx/ 1000 750 500 

4= as; kq l;kmfl/; -z]if kl%sf] _       

s= tLg k":tf leq 750 500 300 

v= tLg k":tf aflx/ 1000 750 500 

5= cGo l;kmfl/;       

s= hUuf gfd;f/L l;kmfl/; 300 200 100 

v= hUuf wlg k|df)f k'hf{sf] k|ltlnkL l;kmfl/; 100 75 50 



u= 

#/wlg hUuf k'hf{ ÷ df]& >]:tfdf kmf]^f]  

^f+; 200 100 100 

#= gftf k|dfl)ft cGo k|of]hg ;lh{ldg ;lxt 150 100 75 

ª= c:yfoL a;f]af; l;kmfl/; 200 150 100 

r= 

;fljssf uflj;x?nfO{ xfnsf] j*f g= 

l;kmfl/; :jb]zL k|of]hg  
lgz"Ns 

%= km/s km/s gfd Pp^} eGg] l;kmfl/; 100 100 100 

h= c+lus[t gfu/Lstf l;kmfl/; 500 300 200 

em= gfd ;+zf]wg l;kmfl/; 100 100 100 

~f= #/af^f] l;kmfl/; kmf/fd ;d]t 200 150 100 

^= pBf]u l;kmfl/; 500 400 300 

&= rf/ lsNnf k|dfl)ft 500 300 200 

*= d[To" k|dfl)ft 100 100 100 

(= hGd btf{ k|dfl)ft 100 100 100 

)f= ljjfx btf{ k|dfl)ft 100 100 100 

t+ a;fO{ ;/fO{ k|dfl)ft 200 150 100 

Yf= rfnrng k|dfl)ft 100 75 50 

b= hflt k|dfl)ft 150 100 75 

w aGb's nfO;]G; gljs/)f l;kmfl/; 500 500 500 

6= a}b]lzs k|of]hg tkm{sf l;kmfl/;x?       

s= hGd ldlt k|dfl)ft 500 400 300 

v= ljjfx÷cljjflxt l;kmfl/; 500 400 300 

u= &]ufgf k|dfl)ft 500 400 300 

#= rfl/lqs k|dfl)ft 500 400 300 

ª= :yfoL a;f]jf; l;kmfl/; 500 400 300 

r= gfd km/s a}b]lzs k|of]hg 500 400 300 

%= 

;fljssf uflj;x?nfO{ xfnsf] j*f g= 

l;kmfl/; ljb];L k|of]hg  100 100 100 

h= cfo>f]t k|dfl)ft ljb];L k|of]hg 500 400 300 

em= s/ lSnl/oG; l;kmfl/; 700 700 700 

~f= oL afx]ssf cGo l;kmfl/;x?  700 500 300 

7= gfd;f/L l;kmfl/; tkm{       

s= vfg]kflg ljB't gfd;f/L l;kmfl/; 500 400 300 

v= ^]lnkmf]g gfd;f/L l;kmfl/; 500 400 300 

u= #/ gS;f gfd;f/L b:t'/ -vl/b ljlqm_ 1000 750 500 

u=1 cz+a)* / d"To" gfd;f/L 200 150 100 

#= #/ lgdf{)f ;DkGg k|df)fkq 150 75 50 

ª k]zf Joj;fo gfd;f/L -Psf#/_ 100 75 50 

r= pBf]u &f+p;f/L 1000 700 500 

%= pBf]u gfd;f/L -vl/b ljlqm_ 500 300 200 

h= c^f] l/S;f gfd;f/L 100 100 100 

em= c^f]l/S;fsf] jflif{s ;jf/L s/ 100 100 100 



~f= c^f]l/S;fsf] g+= sfod z'Ns 50 50 50 

^= 

cfGtl/s /fhZj sfof{no jf #/]n'df Joj;fo 

btf{  500 400 300 

 nut s§f l;kmfl/; 300 200 100 

&= ;+# ;+:yf l;kmfl/; 500 400 300 

*= ldnfkq b:t'/ b'j} y/Laf^ 200 150 100 

(= /sd c;'nL ljuf]sf] k|lt ;os*f 12 12 12 

)f= gubL /l;bsf] k|ltlnkL 50 50 50 

8= df]lx nut s§f l;kmfl/;       

s= 3 /f]kgL ;Dd 100 75 50 

v= 3 b]vL 10 /f]kgL ;Dd 200 150 100 

u= 10 b]vL 15 /fkgL ;Dd 300 200 150 

#= 15 /f]kgL eGbf dfly 500 300 200 

9= ck"tfnL l;kmf/L;       

s= tLgk':tf afx]s ck'tfnL l;kmfl/; 2000 1500 1000 

v= tLgk':tf leqsf ck'tfnL l;kmfl/; 1000 700 500 

10= Joj;fo btf{ l;kmfl/; tkm{        

s= dlb/f ÷ r'/f]^ Joj;fo l;kmfl/; tkm{ M       

c= l*n/ ÷ yf]s  2000 1500 1000 

cf= v'b|f ÷ km'^s/  1000 700 500 

v= 

dlb/f ÷ r'/f]^ Joj;fo afx]ssf  l;kmfl/; 

tkm{ M       

c= l*n/ ÷ yf]s  1000 700 500 

cf= v'b|f ÷ km'^s/  700 500 300 

11= #/ sfod l;kmfl/;        

s= kSsL 1000 au{ lkm^ ;Dd 1000 750 500 

v= kSsL #/ 1001 ju{ lkm^ eGbf dfly 1250 100 700 

u= kSsL #/ ;DkGg l;kmfl/; -cflz+s_ 500 400 300 

#= l^gn] %fPsf] 200 100 50 

ª= v/n] %fPsf] 25 10 10 

r= ?v sf \̂g l;kmfl/; 200 150 100 

12= ;fj{hlgs ;"ljwf pkef]u ;]jfz'Ns       

s= /f+uf sf^\g] / df;' ljlqm ug]{ ;+u k|ltuf]^f ?= 50 50 50 

v= 

v;L, af]sf, e]*f sf^\g] / df;' ljlqm ug]{ ;+u 

k|ltuf]^f ?= 50 50 50 

u= 

/f+uf e};L Jofkf/ ug{ Nofpg] ÷ n}hfg]sf] 

nfuL k|lt lhp 100 100 100 

#= hUuf gfk gS;f z'Ns -cldg z'Ns _ 750 750 750 

13= Jofkfl/s a:t"       

i sDKo"^/        

II sDKo"^/ yf]s ljqmL s]Gb 1500 1000 500 



III sDKo"^/ km'^s/ ljqmL s]Gb 1000 700 500 

IV sDKo"^/ dd{t s]Gb| 700 500 300 

cf= df]jfOn        

(i) df]jfOn yf]s ljqmL s]Gb 1500 1000 500 

(ii) df]jfOn km'^s/ ljqmL s]Gb 1000 700 500 

(iii) df]jfOn dd{t s]Gb| 500 300 200 

O= 

;f]nf/ l;:^d -kftf, Oge {̂/ ,Jofl^« nufot _ 

ljlqm tyf h*fg 1500 1000 700 

O{= cGo On]S^«f]lgS; tyf ljB'lto ;fdfu|L        

(i) yf]s ljqm]tf  1500 1000 500 

(ii) km'^s/ ljqm]tf 1000 700 500 

(iii) dd{t ;DjGwL sfo{ 500 300 200 

v= kmlg{r/ tyf kmlg{l;+u ;fdfgx?       

(i) yf]s ljqm]tf 2000 1500 1000 

(ii) km'^s/ ljqm]tf 1500 1000 700 

u= lgdf{)f ;fdfu|L ÷ xf*{j]o/ ;fdfg       

(i) yf]s ljqm]tf 4000 3000 2000 

(ii) km'^s/ ljqm]tf 3000 2000 1000 

#= sf+rf] sk*f tyf km]G;L k;n       

(i) yf]s ljqm]tf 2000 1500 1000 

(ii) km'^s/ ljqm]tf  1000 700 500 

ª= vfBfGg tyf b}lgs pkef]Uo j:t'x?       

(i) yf]s ljqm]tf 1500 1000 750 

(ii) km'^s/ ljqm]tf 700 500 300 

r= 

Jo"l^kfn{/ ÷ s:d]l^s k;n ÷ lukm\̂  xfp; 

÷ ;}n'g cfbL 500 500 500 

%= ;"g rf+lb Joj;fo    

 yf]s ljqm]tf 10,000 7000 5000 

 km'^s/ ljqm]tf 2000 1000 700 

h= Uof+; j]lN*ª 100 100 100 

em= r'/f]^÷dlb/f Joj;fo s/       

(i) r'/f]^ dlb/f l*n/ 3000 2000 1500 

(ii) ;'lt{hGo ÷dlb/f yf]s ljqm]tf 2000 1500 1000 

(iii) ;'lt{hGo ÷ dlb/f km'^s/ ljqm]tf 1000 700 500 

em= c*{/ P)* ;Knof;{ - s/ r'Stfsf] cfwf/df_    

s 10 nfv eGbf dfly 7000 5000 3000 

v 5 b]lv 10 nfv ;Dd 5000 3000 2000 

u 5 nfv eGbf tn 3000 2000 1000 

14= ljz]if! k/fd;{ tyf Jofj;flos ;]jf        

s= *fS^/ 2000 1500 500 

v= slj/fh 750 500 200 

u= OlGhlgo/ 1000 750 500 



#= n]vfkl( Joj;foL 1000 1000 1000 

ª= clwjQmf gf]^/L klJns ;d]t ePsf]  1000 1000 1000 

r= :yfgLo ejg lgdf{)fsdL{ 500 500 500 

%= n]vf kl/Ifs        

(i) s ju{ 4000 4000 4000 

(ii) v ju{ 3000 3000 3000 

(iii) u ju{ 2000 2000 2000 

(iv) # ju{ 1000 1000 1000 

h= bGt lrlsT;s  1500 1000 700 

em= cg';Gwfgstf{ tyf k/fdz{bftf 2000 1500 1000 

~f= sDKo"^/ Pgflni^ tyf k|f]ufd/ 1000 700 500 

^= ;e]{o/ 500 400 360 

&= cg'jfbs 1000 700 500 

*= kz' lrlsT;s 500 400 360 

(= ljdf Ph])^ 1000 700 500 

)f= k"n xfp; 1000 750 500 

t= ;fdfg ('jfgLstf{ JolQm tyf sDkgL  2000 2000 2000 

y  l;d]G^ Jns pBf]u 2000 2000 2000 

15=lgdf{)f Joj;fo M gu/kflnsfdf k|wfg sfof{no ePsf] 

lgdf{)f Joj;fo       

s= s ju{  10000 10000 10000 

v= v ju{ 9000 9000 9000 

u= u ju{ 8000 8000 7000 

#= # ju{ 7000 7000 7000 

 16= pTkfbgd'ns pBf]u       

s= 

sf]/f dfn jf cw{ k|;f]lwt dfn jf v]/ u} 

/x]sf] dfn;fdfgsf] jf cGo dfn;fdfgsf] 

k|of]u jf k|zf]wg u/L dfn;fdfg pTkfbg ug]{ 

pBf]u Joj;fo 3000 2500 2000 

v= rfpldg pBf]u 1000 1000 1000 

u= sflk pBf]u 5000 4000 3000 

#= af]/f pBf]u 3000 2500 2000 

ª= kfp/f]^L pBf]u 1000 1000 1000 

r= ufd]{G^ pBf]u 5000 4000 3000 

%= s'^fgL lk;fgL lkngL ldn pBf]u 2000 1500 1000 

i s'^fgL lk;fgL dfq  1500 700 500 

h= ^]n/        

(i) ;l^+ª\u ;'l^ª\u ;lxtsf] -&'nf] _ 3000 2000 1000 

(ii) ;l^+ª\u ;'l^ª\u afx]ssf] -;fgf] ÷ ;fwf/)f _ 1000 1000 1000 

h= ;fj'g pBf]u 1000 700 500 

em= bfndf]^ pBf]u 1000 700 500 

~f= v]nf}gf 1000 700 500 



^ h"Qf lgdf{)f tyf dd{t pBf]u 1000 700 500 

& d}gjlQ pBf]u 500 300 200 

* cGo 2000 1500 1000 

17= s[lif, ag, jghGo tyf hl*j'^L pBf]u       

s= cu/jlQ pBf]u 500 300 200 

v= *]l/ pBf]u 1500 1000 700 

u= ; ldn  5000 3000 2000 

#= kmlg{r/ pBf]u 2000 1500 1000 

ª= sf]Onf afx]ssf] vlgh pBf]u 5000 3000 2000 

  r= r'g('uf 5000 3000 2000 

18= phf{d"ns pBf]ux?       

s= sf]Onf pBf]u l*kf] 5000 5000 5000 

v= hn>f]taf^ phf{ pTkfbg ug]{ pBf]u 10000 10000 10000 

u= 

jfo", ;f}o{, k|fs[lts t]n, sf]Onf, jfof]Uof; 

cflbaf^ phf{ k}bf ug]{ pBf]u 5000 5000 5000 

19= ko{^g pBf]u       

s= xf]^n, nh tyf /]:^'/]G^ Joj;fo       

c= xf]^n P)* nh       

(i) 

s >])fL - P=l;=, P^]h afy?d, tflnd xn, 

l^=le=sf] ;'ljwf o'Qm_ 10000 10000 10000 

(ii) 

v >])fL -P^]h afy?d, tflnd xn, l^=le=sf] 

;'ljwf o'Qm_ 5000 5000 5000 

(iii) u >])fL -;fwf/)f xf]^n P)* nh _ 1500 1200 1000 

cf= /]i^'/]G^ tyf rd]gf u[x 1200 1000 700 

O= ;fgf lrof gf:tf xf]^n 500 400 300 

20= ;]jf pBf]u       

s= %fkfvfgf ÷ ckm;]^ k|]; 5000 5000 5000 

v= l:s|g lk|G^ 1500 1000 500 

u= km\n]S; lk|G^ 3000 2000 1000 

# kl/jxg        

c= ;fj{hlgs kl/jxg       

(i) a;, ldlgj; 1500 1500 1500 

(ii) lhk, dfOqmf], ^]ofS;L 1000 1000 1000 

cf= lglh kl/jxg 1000 1000 1000 

O{= df]^/ ;fOsn 100 100 100 

ª= k|of]uzfnf ÷ Nofj 1000 700 500 

r= kmf]^f]u|fkmL ÷ kmf]^f]skL ,  700 500 400 

% lzt e)*f/ 5000 3000 2000 

21= ;+rf/ ;]jf       

s= 

gLlh If]qsf ^]lnkmf]g km\ofS; ;]jf kmf]^f]skL 

df]jfOn kmf]g cfO P; *L P; l^ l* Od]n 

OG^/g]^, /]l*of] k]lhª cfbL 1500 1000 400 



v= s'l/o/ ;]jf 1500 1000 400 

u= l/hfh{ sf*{ yf]s ljqm]tf 2000 2000 2000 

#= ^]lnkmf]g ;]jf        

c gLlh If]qaf^ ;+rflnt ^]lnkmf]g ;]jf k|bfos 

sDkgL - zfvf ÷ ;]jf ;+rfng _ 10000 10000 10000 

cf= 
Joj;fod'ns ^fj/ ;+rfng -ljB't, 

^]lnsd,x]Nnf], o'l^on nufot _ ^fj/ lgdf{)f 

ubf{ tklzn adf]lhdsf] b:t'/ nfUg] % .       

(i) 10 lkm^ ;Dd 5000 5000 5000 

(ii) 11 b]vL 20 lkm^ ;Dd 15000 15000 15000 

(iii) 21 b]vL 30 lkm^ ;Dd 25000 25000 25000 

(iv) 31 b]vL 40 lkm^ ;Dd 35000 35000 35000 

(v) 41 b]vL 50 lkm^ ;Dd 45000 45000 45000 

(vi) 50 lkm^ eGbf dfly 70000 70000 70000 

#= OG^/g]^ ;]jf k|bfos sDkgL 5000 4000 3000 

ª= kqklqsf 1000 1000 1000 

r= :yfgLo:t/af^ k|zfl/t ^]lnlehg 2000 2000 2000 

%= Pkm=Pd= /]l*of] 2000 2000 2000 

(i) 250 jf^ Ifdtf ;Dd 2000 1500 1000 

(ii) 250 b]vL 500 jf^ ;Dd 3000 2500 2000 

(iii) 500 b]vL dfly 4000 3500 3000 

22= lzIff ;]jf       

s= lglh :s"n SofDk; :yfkgfy{ l;kmfl/; b:t'/ 1000 700 500 

v= 

lglh :s"n SofDk;sf] tyf ;}lIfs ;+:yfsf] 

Joj;fo s/       

(i) lglh k|f=lj= 500 400 360 

(ii) lglh lg=df=lj= 1500 1000 700 

(iii) lglh= df=lj= 2000 1500 1000 

(iv) lglh p=df=lj= 3000 2000 1000 

(v) lglh SofDk; 3000 2000 1000 

(vi) tflnd cg";Gwfg,l;k ljsf; cg';Gwfg s]Gb| 3000 2500 2000 

(vii) sDKo"^/ OlGi^Ro"* tyf efiff k|lzIf)f ;+:yf 2000 1500 1000 

(viii) ^\o";g tyf sf]lrª\u ;]G^/       

  df=lj= tx ;Dd 1000 700 500 

  df=lj= tx eGbf dfly 1500 1000 1000 

  tof/L sIff - ljleGg cfof]u tyf kl/Iff _ 2000 1500 1000 

23= ljlQo ;]jf        

s= ljb];L d'b|f ;^xL ug]{ sDkgL ÷ zfvf 2000 1500 1000 

v= 

dlg ^«fG'km/ ;DjGwL sfo{ ÷ /]ld^\ofG; sDkgL 

÷ zfvf 2000 1500 1000 

u= lwtf]kq ;DjGwL sf/f]jf/ ug]{ sDkgL ÷ zfvf 2000 1500 1000 



#= ljdf sDkgL  5000 5000 5000 

ª= ;xsf/L a+}s 3000 3000 3000 

r= 

g]kfn /fi^« a+}saf^ dfGotf k|fKt a+}s tyf 

ljlQo ;+:yf tyf ltgsf zfvf sfof{nox? M       

(i) s au{ - jfl)fHo a+}sx? _ 25000 25000 25000 

(ii) v ju{ - ljsf; a+}sx? _ 15000 15000 15000 

(iii) u ju{ - ljQ sDkgLx? _ 10000 10000 10000 

(iv) # au{ - n#' ljQ sf/f]jf/ ug]{ ljlQo ;+:yf 5000 5000 5000 

(v)   5000 5000 5000 

(vi)   1000 1000 1000 

24= :jf:Yo ;]jf M       

s= lglh  c:ktfn 5000 5000 5000 

v= gl;+ª xf]d ÷ kf]lnlSnlgs 5000 5000 5000 

u= lSnlgs tyf Nofj 2000 1000 500 

#= *])^n x:kL^n 5000 4000 3000 

ª= cf}ifwL Joj;fo       

(i) l*n/ ÷ yf]s  5000 4000 3000 

(ii) v'b|f ÷ km'^s/  1000 800 500 

25= dd{t ;Def/ ;]jf M       

s= x]le Oso'jd]G^ -a;, ^«s cfbL _ 2000 1500 1000 

v= xn'sf Oso'jd]G^ -sf/, lhk, ^ofS;L cfbL _ 1500 1000 500 

u= 

;fOsn, /]l*of], l^=le=, k|];/s's/, lx^/ , 

^]lnkmf]g ;]^ OTofbL dd{t 500 300 200 

#= ^fo/ l;;f]ln+ª 2000 1500 1000 

ª= ^fo/ dd{t 1000 700 500 

26= cGo ;]jf       

s= lj!fkg ;]jf ÷ Ph]G;L 1000 700 500 

v= ;fOgjf]*{ agfpg] ÷ k]lG^+u ;]jf  1000 500 360 

u= a}b]lzs /f]huf/ ;]jf k|bfos 5000 5000 5000 

#= :jb];L /f]huf/ ;]jf k|bfos       

 k|wfg sfof{no 1000 1000 1000 

 zfvf sfof{no 500 500 500 

ª= ;]qm]^l/on ;]jf 500 500 500 

r= 

xfplh+ª sDkgL tyf #/hUuf vl/b ljlqm - 

l/on :^]̂ _ 5000 4000 3000 

%= *«fO lSng;{ 700 500 400 

27= kz" awzfnf       

s= /f+uf df;' ljqm]tf 1000 700 500 

v= a+u'/ df;' ljqm]tf 1000 700 500 

u= v;L df;' ljqm]tf 500 400 300 

#= s'v'/f kfng Joj;fo 500 400 300 



ª= df%fkfng Joj;fo 500 400 300 

r= s[lif tyf kz"k+lIf Joj;fo 500 400 300 

%= k|m]; xfp; tkm{       

(i) jRrf bfgf 1000 700 500 

(ii) df;' ljqm]tf 1000 700 500 

(iii) df%f ljqm]tf 500 400 300 

28= kmnkm'n tyf h"; Joj;fo       

s= l*n/ ÷ yf]s  1000 700 500 

v= v'b|f ÷ km'^s/  500 400 360 

29= vf]^f] Joj;foL        

s= vf]^f] Joj;foL Joj;fo s/ 1000 1000 1000 

v= k|fs[lts >f]t pkof]u z'Ns 5000 5000 5000 

30= O^f pBf]u       

s= lrDgL pBf]u 7000 7000 7000 

29= Pu|f] ;]G^/ ÷Pu|f]e]^ 1500 1000 500 

30= k":ts tyf :^];g/L       

s= yf]s ljqm]tf 2000 1500 1000 

v= v'b|f ÷ km'^s/ ljqm]tf 1000 700 500 

31= lu|n pBf]u       

s= lu|n pBf]u  2000 1500 1000 

v= #/]n" kmnfd pBf]u k/Dk/fut cf/g afx]s 500 400 360 

32= uf*Lsf] kf^{; ljqm]tf       

s= df]^/ kf^{; ljlqm 2000 2000 2000 

v= df]^/ ;fOsn kf^{; ljqm]tf 1000 1000 1000 

u= j*L ljN*;{ 5000 5000 5000 

#= sjf*L Joj;fo 3000 3000 3000 

33= uf*Lsf] l*n/       

s= rf/ kfª\u|] uf*L  10000 10000 10000 

v= df]^/ ;fOsn 5000 5000 5000 

u= ;fOsn 1000 1000 1000 

34 cfon l*n;{ - kDk xfp; _       

s= l*hn . k]^f]n 20000 20000 20000 

u= dl§t]n 2500 1500 1000 

35= uNnf k;n 1000 750 500 

36= Uof; l*n/ 2000 1500 1000 

37= sn/ Nofj 1000 750 500 

39= hl*j"l^ vl/b ljlqm 3000 3000 3000 

40= ldg/n jf^/ pBf]u 5000 5000 5000 

41= g;{/L pBf]u 500 500 500 

42= l;;f KnfOp* ljqm]tf 1500 1000 700 

43= ef+*fs'*f ljqm]tf 1500 1000 700 

44= s]a"n, g]^jls{+u 5000 5000 5000 



45 ;fOj/ Sofkm] 1000 750 500 

46= tfnf v'nfpg] - #/wgLn] a]xf]g"{kg]{ _ 200 200 200 

47= jSof}tf dfnkf]t s/ ;DjGwdf dfnkf]tsf] b//]^df yk 

k|lt;t 
20 k|lt;t 20 k|lt;t 

20 

k|lt;t 

48= nf]s bf]xf]/L ;f+em Joj;fo btf{ 2000 1500 1000 

49= nf]s bf]xf]/L ;f+em Joj;fo s/  2000 1500 1000 

50 c:yfoL xf^ jhf/÷ #"lDt k;n 500 400 360 

51= rf}kfof k|ltuf]^f -ufO, e};L, /f+uf, uf]?, kf*f, kf*L 

cfbL k|ltlbg  100 100 100 

52= k+%L k|ltuf]^f -xf+;,s"v"/f cfbL _ k|ltlbg 10 8 5 

53= ;fu;JhL / kmnk"mn k;n k|ltlbg 10 10 10 

54= k^s] ;jf/L s/        

s= 

lghL tyf ef*fsf a;,^«s,^\ofS^/ ldlgj; 

cfbL 20 20 20 

v= lglh tyf ef*fsf sf/, lhk, ^\ofS:fL cfbL 10 10 10 

u= cGo ;jf/L ;fwg 5 5 5 

55= dgf]/~hg s/        

s= rnlrq dlGb/ dgf]/~hg s/ dfl;s 500 500 500 

v= rnlrq dlGb/ Joj;fo s/ 1000 750 500 

u= hfb', ;s{;, r^s cfbLdf k|ltlbg 200 200 200 

#= /dfOnf] d]nf÷ dxf]T;j k|ltlbg 500 500 500 

56= #/ hUuf d"Nofs+g l;kmfl/;       

s= ljb];L k|of]hg  
k|lt;os*f 

20 k};f 

k|lt;os*f 

20 k};f 

k|lt;os*f 

20 k};f 

v= :jb];L k|of]hg 
k|lt;os*f 

15 k};f 

k|lt;os*f 

15 k};f 

k|lt;os*f 

15 k};f 

57= #/ gS;f kf; tkm{       

s= #/ af^f] k|dfl)ft 500 400 300 

v= 
hUuf gfkL, nf]s];g, ;fO^ Knfg ;]jf ;"Ns / 

k|ltlgwL z"Ns 
500 

500 500 

u= sDkfp)* jfn k|lt /lg+u km"^df 2 1.75 1.5 

58= af^f] s^fg tkm{ ;]jf ;"Ns       

s= kSsL ;*s k|lt j=ld= 2000 2000 2000 

v= u|]en ;*s k|lt j=ld= 20 18 15 

59= xf]l*+u af]*{ tkm{ jflif{s       

s= lj!fkg ;fdfu|L 50 j=lkm=  50 40 35 

v= ;fgf lsl;dsf k|rf/sf af]*{x? 4 j=lkm= ;Dd 400 350 300 

u= 

Jofg/ ;fj{hlgs :yfgdf k|ltld^/ 12 

lbg;Ddsf] nfuL 6 5 4 

ª= 

1 ld= / 1 a=lkm= ;Ddsf] lj!fkgnfO{ 1 

dlxgf ;Ddsf] nfuL  1 0.75 0.5 



% 

bkmf Rf eGbf al( ;dosf] nfuL lj!fkg 

/fVg'k/]df 2 1.5 1 

h= 

ljB't kf]ndf k]lG^+u ug]{nfO{ k|lt ju{=ld= k|lt 

kf]ndf 10 8 5 

60= pBf]u :yfkgf tkm{ M       

s= 5 x;{ kfj/ ;Dd 500 400 360 

v= 10 x;{ kfj/ ;Dd 1000 750 500 

u= 15 x;{ kfj/ ;Dd 1200 1000 800 

#= 20 x;{ kfj/ ;Dd 1500 1200 1000 

ª= 25 x;{ kfj/ ;Dd 1800 1500 1200 

r= 30 x;{ kfj/ ;Dd 2000 1800 1500 

%= 35 x;{ kfj/ ;Dd 2500 2200 2000 

h= 40 x;{ kfj/ ;Dd 2800 2500 2200 

em= 40 x;{ kfj/ b]vL dfly 3000 2750 2500 

`= 30 x;{ kfj/ eGbf dfly k|b'if)f z"Ns 3000 2750 2500 

61= t/sf/L d)*Ldf gcfpg] Jofkf/L hl/jfgf        

s= t/sf/L Joj;foL klxnf] k^s 100 75 50 

v= t/sf/L Joj;foL bf]>f] k^s 200 150 100 

u= t/sf/L Joj;foL t]>f] k^s 300 250 200 

62= ^f]n ljsf; ;+:yf tkm{       

s= pBdL ;d'x btf{ ubf{  300 250 200 

v= gljs/)f 300 250 200 

u= k|ltlnkL lbbf 50 40 30 

63= sG;N^]G;L       

#= sG;N^]G;L btf{ afkt 4000 4000 4000 

ª= sG;N^]G;L gljs/)f 1000 1000 1000 

64= ;/;kmfO{ ;]jf ;"Ns       

s= 

;/;kmfO{ ;]jf z'Ns 1000 j=lkm= ;Ddsf] 

#/df k|ltlbg 1.5     

v= 

;/;kmfO{ ;]jf z'Ns 1001 b]vL 2000 j=lkm= 

;Ddsf] #/df k|ltlbg 2     

u= 

;/;kmfO{ ;]jf z'Ns 2001 j=lkm=eGbf dflysf] 

#/df k|ltlbg 3.5     

#=  xf]^n s ju{ k|lt dlxgf 200     

ª= xf]^n v ju{ k|lt dlxgf 150     

r= xf]^n u ju{ k|lt dlxgf 100     

%= &]nf (fjnL ;/;kmfO ;]jf z"Ns k|ltlbg 4     

h= km]lG; k;n k|lt dlxgf 

100 

 

     

em= kmlg{r/ k;ndf k|ltlbg 5     

65= ;*s jlQ dx;"n tyf Joj:yfkg z"Ns dfl;s 5     



s= 

;*s jlQ dxz'n z'Ns 1000 j=lkm= ;Ddsf] 

#/df k|ltlbg 5     

v= 

;*s jlQ dxz'n 1001 b]vL 2000 j=lkm= 

;Ddsf] #/df k|ltlbg 5     

u= 

;*s jlQ dxz'n 2001 j=lkm=eGbf dflysf] 

#/df k|ltlbg 7     

66= cGo       

s= 

c:yfoL #/, ^x/f agfO Joj;fo u/L a:g]nfO{ 

^x/f jgfP jfkt yk 1000     

67= hUuf ljsf; sfo{qmd       

s= 1 /f]kgL ;Ddsf] hUufdf 3000 2500 2000 

v= 1 /f]kgL b]vL 3 /f]kgL ;Ddsf] hUufdf 5000 4000 3000 

u= 3 /f]kgL b]vL 6 /f]kgL ;Ddsf] hUufdf 10000 7000 5000 

#= 6 /f]kgL b]vL 10 /f]kgL ;Ddsf] hUufdf 15000 12000 10000 

ª= 10 /f]kgL b]vL 15 /f]kgL ;Ddsf] hUufdf 20000 17000 15000 

r= 15 /f]kgL b]vL 20 /f]kgL ;Ddsf] hUufdf 25000 22000 20000 

%= 20 /f]kgL eGbf jl( ;a} 30000 25000 20000 

68= gu/kflnsfsf] ;DkQL ef*f jfkt       

s= 

g=kf=sf] Aofsxf] nf]*/ ef*f k|lt #)^f Ogwg 

;lxt 2300 2300 2300 

v= 

g=kf=sf]= Jofsxf] nf]*/ ef*f k|lt #)^f 

Ogwg afx]s 1300 1300 1300 

u= g=kf= sf] l^Kk/ ef*f k|ltlbg -OGwg afx]s _ 4000 4000 4000 

#= g=kf=sf] ;S;];g ^\of+s k|lt l^k 5000 5000 5000 

ª= 
g=kf=sf] v]n d}bfg k|of]u u/]jfkt k|ltlbg 

cf=j= 2071÷072 b]vLg} nfu' x"g] 
2000     

r= g=kf= vn+uf l:yt u]i& xfp; ef*f dfl;s 7500 7500 7500 

%= g=kf=sf] klSs #/ ef*f k|lt sf]&f dfl;s 1500 1500 1500 

h= g=kf=sf] slRr #/ ef*f k|lt sf]&f dfl;s 800 800 800 

em= g=kf=sf] j*f sfof{no xnef*f k|ltbLg 500 500 500 

69= %f*f rf}kfof hl/jfgf k^s} lkR%]       

s= ufO{, uf]? 300 250 200 

v= vRr*, uwf, #f]*f 1000 750 500 

u= v;L , afv|f], e]*f, Rofª\u|f 500 400 300 

r= /f+uf] e};L  700 500 300 

%= ;'ª\u'/, a+u'/ 700 500 300 

70= axfn lj^f}/L s/        

s= 
cfkm\gf] If]qleq k;n Uof/]h uf]bfd z]* 

sf/vfgf jf kf]v/L k'/} jf cf+lzs ?kdf 

axfndf lbPsf]df  

2 2 2 



v= 

cfkm\gf] If]qdf cfkm\gf] lgdf{)f, /]vb]b, ;~rfng 

u/]sf] xf^ ahf/ / ;fj{hlgs :yn P]nfgL 

hUuf jf af^f]sf] %]pdf c:yfoL k;n yfKg 

lbP jfkt k|lt ju{ km'^ 

10 7 5 

71= %'^ ;"ljwf       

s= 

Plss[t ;DkQL s/ tyf Joj;fo s/df %'^ 

;"ljwf       

(i) >fj)f b]vL cflZjg ;Dd a"emfPdf  
10 k|lt;t 10 k|lt;t 

10 

k|lt;t 

 

v= #/ gS;f kf;df %"^       

(i) 

hUufwgL dlxnf, blnt, cNk;+Vos ePsf] 

xsdf #/ lgdf{)f ug{ gS;fkf; ubf{ nfUg] 

/fhZjdf %"^ k|lt;t 

25 k|lt;t 25 k|lt;t 
25 

k|lt;t 

(ii) 

e'sDk k|lt/f]wfTds #/ lgdf{)f ug]{ JolQm ;+# 

;+:yf gS;fkf; ubf{ s'n nfUg] /fhZjdf %"^ 

k|lt;t  

10 k|lt;t 10 k|lt;t 
10 

k|lt;t 

u= g=kf=sf] :jfldTjdf /x]sf] x]le Oso"jd])^ dfl;s ?kdf Psd"i^ clu|d a"emfO{ ef*fdf lnbf tf]lsPsf] 

b/df 5 k|lt;tn] %'^ x"g]% .  

 

73= #/ gS;f kf; b:t'/ 

l;=g+= 

  tnf 

#/sf]  lsl;d 
e"Otnf k|lt 

j=lkm= 

klxnf] tnf 

k|lt j=lkm= 

bf]>f] tnf 

k|lt j=lkm= 
  

s= ahf/ If]qdf  

1= k|m]d :^Sr/ O^f jf Jnssf] ufx|f] ePsf] 3.5 3 2.5   

2= nf]* ljol/ª cf/=l;=l;= %fgf ePsf]  2.5 2 1.5   

3= nf]* ljol/ª :n]^ / h:tfsf] %fgf ePsf]  2 1.5 1   

4 s^]h 1 0.75 0.5   

v= u|fld)f If]q  

1 k|m]d :^Sr/ O^f jf Jnssf] ufx|f] ePsf] 2 1.5 1   

2 nf]* ljol/ª cf/=l;=l;= %fgf ePsf]  1.5 1 0.75   

3 nf]* ljol/ª :n]^ / h:tfsf] %fgf ePsf]  1 0.75 0.5   

4 s^]h 0.75 0.5 0.5   

 

 


